	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
COTTON							
Lint - Non-irrigated (Total)		736.0	1,010.00		743,360	lbs.	\$334,512
Cotton (Total)	*	736.0					\$334,512
FORESTRY							
Pulpwood							
Pine					133,337	cords	
Hardwood					41,707	cords	
Pulpwood (Total)					175,044		
Chip & Saw (Total)					4,040	cords	
Saw Timber							
Pine					45,919,444	board feet	
Hardwood					2,301,349	board feet	
Saw Timber (Total)					48,220,793		
Total Pulpwood, Chip & Saw,							\$38,550,942
Saw Timber FOB Mill							
Total Forestry Stumpage							\$22,195,578
(Total)							
Christmas Trees (Total)	*				125	trees	\$5,000
Forestry (Total)							\$38,555,942
FRUITS							
Blueberries (Total)	6	159.0	4,500.00		715,500	lbs.	\$1,144,800
Peaches (Total)	*	4.0	100.00		400	bu.	\$16,000
Strawberries (Total)	*	1.0	1,300.00		1,300	flats	\$13,000
Fruits (Total)		164.0					\$1,173,800
FEED GRAINS							
Corn (Total)	*	465.0	81.00		37,665	bu.	\$82,486
Feed Grains (Total)		465.0					\$82,486
GREENHOUSE VEGETABLES							
Tomatoes (Total)	*	2,880.0	4.25	Yield / sq. ft.	12,240	lbs.	\$15,300
Greenhouse Vegetables (Total)		2,880.0		_			\$15,300
HAY FOR SALE		,					
Grass (Total)	60	4,500.0	1.60		7,200	tons	\$432,000

DE SOTO PARISH

DE	CI	\mathbf{T}	$\boldsymbol{\cap}$	D	٨	D	T	C	T	1
DE	20	,,	ι,	1	4	ĸ	ı	. >	г	1

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Hay for Sale (Total)		4,500.0				\$432,000
Home Gardens (Total)	580					\$150,800
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$30,000
Plants (Total)						
Woody Ornamentals (Total)	*				acre	\$30,000
Foliage Plants (Total)	*				acre	\$12,000
Nursery Crops (Total)						\$72,000
PECANS						
Improved (Total)	*	8.8	285.00	2,508	lbs.	\$3,260
Pecans (Total)		8.8				\$3,260
Soybeans (Total)	*	728.4	45.00	32,778	bu.	\$193,718
VEGETABLES						
Southern Peas (Fresh) (Total)	*	3.0	90.00	270	bu. (24 lbs.)	\$6,750
Vegetables (Total)		3.0				\$6,750
TOTAL ALL PLANT ENTERPR	RISES					\$41,020,569
	FISHER	IES & WILI	LIFE ENTERPRISES PRO	DDUCTION		
	Number of		Units of	Total	Units of	Gross Farm
Fisheries	Producers		Production	Production	Measure	Value
Fur Animals (Total)				135	pelts	\$1,310
HUNTING LEASES						
All Other Game (Total)	16		311,200 No. Acres		acre	\$2,178,400
			Leased			
Hunting Leases (Total)						\$2,178,400
Honey (Total)	6		35 No. Hives	3,500	lbs.	\$2,065
TOTAL ALL FISHERIES & WII	LDLIFE ENTERPI	RISES				\$2,181,775
		ANIMAL EN	NTERPRISES PRODUCTION	ON		
	Number of		Units of	Total	Units of	Gross Farm

Production

Production Measure

Value

CATTLE & CALVES

Producers

Animal

CATTLE & CALVES					
Steer Calves 300-400 lbs.			1 510	hand	\$900.756
400-500 lbs.			1,519 1,701		\$809,756 \$1,029,301
400-300 lbs. 500-600 lbs.			1,701		
600-700 lbs.			,	head	\$1,277,373
			911	nead	\$671,261
Steer Calves (Total)					\$3,787,691
Heifer Calves 300-400 lbs.			1,291	1 1	¢(02.000
					\$603,898
400-500 lbs.			1,446		\$791,056
500-600 lbs.			1,653		\$1,024,248
600-700 lbs.			//5	head	\$540,725
Heifer Calves (Total)					\$2,959,927
Yearling Cattle			0.60	1 1	Φ5 211
600-700 lbs.				head	\$5,311
700-800 lbs.			860	head	\$5,741
Yearling Cattle (Total)			4 400		\$11,051
Cow-Calf Pairs (Total)			1,400	-	\$1,370,782
Cull Cows (Total)			1,430		\$566,788
Cull Bulls (Total)			200	head	\$185,610
Cattle & Calves (Total)	205	14,300 No. Cows			\$8,881,849
DAIRY					
Dairy Cows					
Milk	17	3,212 No. Adult Cows	46,820,721		\$7,528,772
Bred Heifers				head	\$180,000
Adult Cows				head	\$150,000
Cull Cows			835	head	\$501,000
Bull Calves			1,478	head	\$73,900
Breeding Age Bulls			11	head	\$13,200
Dairy Cows (Total)					\$8,446,872
Dairy (Total)					\$8,446,872
HORSES					
Brood Mares					
Show Horses	*	65 No. Brood Mares	35	head	\$140,000
Recreation Horses	6	60 No. Brood Mares	55	head	\$82,500
Brood Mares (Total)					\$222,500

DE SOTO PARISH

DE SOTO PARISH

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
HORSES					
Stud Fees					
Show Horses		4 No. Stallions	18	mares bred	\$27,000
Recreation Horses		6 No. Stallions	25	mares bred	\$12,500
Stud Fees (Total)					\$39,500
Show Horses (Total)	60		130	head	\$650,000
Recreation Horses (Total)	215		440	head	\$660,000
Horses (Total)					\$1,572,000
POULTRY					
Breeder Flocks (Total)	7	251,000 No. Birds	4,283,000	doz. hatching	\$1,627,540
				eggs sold	
Poultry (Total)					\$1,627,540
GOATS					
Show Goats (Total)			6	head	\$1,350
Slaughter Goats (Total)			65	head	\$7,053
Stocker Goats (Total)			20	head	\$1,730
Cull Goats (Total)			8	head	\$480
Goats (Total)	9	125 No. Does			\$10,613
SWINE					
Feeder Pigs (Total)			216	head	\$6,739
Slaughter Hogs (Total)			30	head	\$3,920
Culls (Total)			2	head	\$336
Swine (Total)	*	12 No. Sows			\$10,995
EXOTIC ANIMALS					
Deer/Antelope (Total)	*	45 No. Animals	10	head	\$1,250
Exotic Animals (Total)					\$1,250
TOTAL ALL ANIMAL ENTERPR	ISES				\$20,551,118

DE SOTO PARISH \$63,753,461